LS.A-40
LS.A-40-AS

AR B4

- WA e B R B EPA) BRSO EAOR R, TR, b,

FFPW /T FrPrrdFrT

R

fE A B H % A = '*““*“H“iﬂ_ﬁ;@? .
- REREE, THMWE, o= LIS
- WA E W RIEN,

- LS.ARL A7 [ R 4 A9 K B

- LS. A-ASHEL . NBR& 70 R KA LA ACF B B4, Wl HERL,
FHRNEEMGRARERRTRREE, WLEAZEE A wEH, BF
FESSEARTHERT, REQSHIAL,

- HHWFRF(RRIT Y, £2LE5121),

_3|r ue(

TR AT WA B AT, SEI12H KA,

KFRBEHARCREN A T ZRAF T E, KBHEFL %
e BTl REEAA, R EE, TR EXME, REMERE P,

'

_I"__l
Y
A

y 1 1

A BE

X85 B S K55 B = g g
343121 | LS. A-40-14-M8x43 348121| LS.A40-14-AS-M8x43 68 71 M8 43 41 48
343125 | LS.A-40-14-M8x68 348125 | LS.A-40-14-AS-M8x68 40 93 9 | M8 68 14 14 10000 51 58
343221 | LSA40-14-M10x43 | 348221| LS. A40-14-AS-M10x43 68 71 M10 43 51 58
343225 | LSA40-14-M10x68 | 348225| LS.A40-14-ASM10x68 | 40 93 96 25| M10 68 14 14 10000 63 70
343231 | LSA40-14-M10x98 | 348231| LS.A40-14-AS-M10x98 123 126 M10 98 77 84
343321 | LSA40-14-M12x43 | 348321 | LS. A40-14-AS-M12x43 68 71 M12 43 61 68
343325 | LSA40-14M12x68 | 348325| LSA40-14ASM12x68 | 40 93 96 25 | M12 68 14 14 10000 78 85
343331 | LSA40-14M12x98 | 348331| LS.A40-14-AS-M12x98 123 126 M12 98 99 106
343521 | LSA40-14-M16x68 | 348521 | LS.A40-14-AS-M16x68 93 96 M16 68 122 129
343525 | LS.A40-14M16x108 | 348525| LS.A-40-14-AS-M16x108 133 136 M16 108 174 181
343541 | LSA40-14-M16x148 | 348541| LS.A40-14-ASM16x148 | 40 173 1768 29 | Mm16 148 14 16 10000 296 233
343561 | LSA40-14-M16x168 | 348561| LS.A40-14-AS-M16x168 193 19 M16 168 252 259
" CURABALN RBEELLERWHAT, EhEREHFLERTE, THSIRERHTN,

# o %% T By A B

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+BANTER




